_—~_ ASSEMBLY INSTRUCTIONS

HOLLAND HOUSE

ITEM NO: 1169-311-S  Upholstered Side Chair

WARNING: To avoid alighment issue, please don't tighten the screws unless all legs are adjusted at the same level.

HARDWARE LIST/ LISTE DE QUINCAILLERIE

Hex-Nut ¢5/16"

Right - Droit

P.1/2

Ecrou hexagonal ¢$5/16"
Short Bolt $1/4" x45 mm
m—() 0
3 piéces
Boulon ¢1/4" x45 mm
Long Bolt ¢$1/4" x90 mm
—() | 0
pieces
Boulon ¢1/4" x90 mm
Spring Washer $5/16" x12 mm
11pos ASSEMBLY COMPLETED
Rondelle de ressort @ 11 pidces - -
$5/16" x12 mm PART LIST/LISTE DE PIECES QTY'/ QTE
Flat Washer $5/16" x19 mm 11 pos CHAIR BACK 1PC
‘@ - A .
11 pieces 1 PIECE
Rondelle plate $5/16" x19 mm ~ DOSSIER DE CHAISE
Allen Key 58 x 23 x 4 mm o o SEAT 1 PG
éﬂ 1 piéce N 1 PIECE
Clé Allen 58 x 23 x 4 mm l SIEGE
FRONT LEG
Wrench 12 x 75 mm 5 1 po ¢ |__(LEFT-RIGHT) 2PCs
Cle' 12 X 75 mm 1 plece PIEDS AVANT 2 PIECES
(GAUCHE - DROIT)
SIDE STRETCHER
Screw: ¢8 x 50 mm 4 pos 5 | (LEFT-RIGHT) 2PCS
) St | 4 pieces BARREAU 2 PIECES
Vis ¢8x 50 mm (GAUCHE - DROIT)
TOOLS REQUIRED (NOT PROVIDED)
Phillips Screwdriver A=
STEP 1
ETAPE 1
Left - Gauche




STEP 2

ETAPE 2

O Right - Droit
3 g

| LA Right
° \ - Droit
- Gauche ¢

D
Left

MADE IN VIETNAM
FABRIQUE AU VIETNAM

P. 2/2




	275582 AI ( HOH-HOH 462 ) Model (1)
	275582 AI ( HOH-HOH 462 ) Model (2)

